Compositions of
Isometries

Objectives To find compositions of isometries, including glide reflections
To classily isometries



The term isometry mea
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The composition of two or more isometries is an isometry.

There are only four kinds of isometries.

Translation Rotation Reflection Glide Reflection
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A composition of reflections across Tw
a translation.
You can write this compaosition as

{'HI‘TF = H;H-l'll"l.atﬂlt I] = ‘.Fll'l'-i-ﬂ-{:".' l'_
or R, (R(AABC)) = AATB C". N odnhan

AA”, BB" ,and CC" are all perpendicular to lines € and m.
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translation?

Got It? 1. a. Draw parallel lines ¢ gg el roblem 1. Draw | between ¢ and m.
What is the imag hat is the distance of the resulting
onR divection
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A composition of reflections across two infersecting lines is a rotation,

You can write this composition as (R,,, » RNAABC) = AAR"C”
or R (R(AABC)) = AA"B"C".

The figure is rotated about the point where the two lines intersect. In
this case, point ).
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Got i? 2. a. Use the diagram at the right. What is (B, » R, )(1)? What are the
center and the angle of rotation for the resulting rotation?
b. Reagoning Use the results of part (a) and Problem 2. Make
i cmjecture ¢ center of rol the angle of

Fcomp ’tmnrﬁ[
reflections geross ersecting lines.
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Any composition of isometries can be represented by either a refleciigr
translatiog gotation, or glide refleglign, A glide reflection is th E
of idr.-] anullel to the direction
of transTation. You can map a left paw print onto a right paw print with a

glide reflection.




Got #? 3. Graph ATEX from Problem 3, What is the image of ATEX for the glide
reflection (Ry - 22 Ty, o= WA TEX)T
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Inclass: p. 574 #12, 18
Homework: p. 574-575 #7-25(odd)
Interactmath: #7,9, 13,17, 19, 25



